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GENERAL FORM OF EQUATION OF STRAIGHT LINE
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SLOPE OF A LINE CONNECTING TWO POINTS
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SLOPE OF A STRAIGHT LINE
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O The tangent (tan) of the inclination angle of a line with [positive x axig| is called the slope
- or gradient of a line (m).
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POLL QUESTION-01
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LINES PARALLEL TO AXES
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POLL QUESTION-02
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O Aline,/perpendicular to y axis\goes through the point (6, 3) what'’s the
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SLOPE INTERCEPT FORM EQUATION OF A STRAIGHT LINE
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POLL QUESTION-03
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Y=mx+ C

U The inclination of a line with positive x axis is 135°; If it passes through the point

(2,3) the equation is-
@y=x+4
(b)y=—-2x+6
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POINT-SLOPE FORM EQUATION OF A STRAIGHT LINE
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TWO-POINTS FORM EQUATION OF A STRAIGHT LINE
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POLL QUESTION-04
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O The equation of the line passing through the points (1, 2) and (\é 4) is-
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(|) A line perpendicular to x axis passes through the point (3, 4). Find the equation of line.
kii). Find the equation of line passing through the points (5,7) and (0, —4).
é(iii). Find the equation of the line of slope 2 which passes through the point (—1, 2).

(iv). 3x + 7y = 21 and 2ax — 3by + 6 = 0 indicates the same line. Find the value of a and b.
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INTERCEPT FORM EQUATION OF A STRAIGHT LINE
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Q What's the
)/n
(b) 1
(c) —1

(d) —11
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PERPENDICULAR FORM EQUATION OF A STRAIGHT LINE
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% xcosa + ysina = p \
p = The length of the perpendicular line drawn g
on the straight line from origin
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MATHEMATICAL PROBLEM
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+¢ The point A(h, k) lies on the line 6x — y = 1 and the point B(k, h) on 2x — 5y = 5 Find the
~equation of the line AB.
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MATHEMATICAL PROBLEM

* Find the co-ordinate of the midpoint of the line segment cut by the axes from the

straightline x + 2y +7 =20 \
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MATHEMATICAL PROBLEM
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s A straight line passes through the point (3,7); It cuts parts of equal value but of(opposi@
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MATHEMATICAL PROBLEM
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5020 A line forms a triangle of 16 unit square with the axes. The perpendicular line drawn on the
straight line from origin inclines at 45° angle with positive x axis. Find the equation of the

line.
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GRAPHICAL REPRESENTATION OF LINE
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» Take the equation.
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é(i). The line segment cut by the axes from a straight line gets divided internally in 5: 3 ratio at
éthe point (—4, 3). Find the equation of the line.

é(ii). A straight line passes through the point (-2, 6) and the multiplication of the line segment
cut by the axes from the line is 6; Find the equation of the line.

?(iii). 12x + 5y — 6 =0 and xcosa + ysina = p indicates the same line. Find the value of p.

é(iv). The line segment cut by the axes from a straight line gets divided internally in 2: 3 ratio at
the point (6, 2). Find the equation of the line.
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